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DC12V Power supply
Necessary current  =
83mA(control block) + (83mA × n copy block)

CB R1
15  1W

CB TR
2SC2235Y

CB R2
15 1W

83mA
(Constant Current)

BR1
15Ω 1W

BR2
15Ω 1W

Block copy  max 10(maybe..)

Dummy resistor

CB R3
56  2W

BTR1
2SC2235Y

BTR2
2SC2235Y

LM317T

IR LED
TLN115A(toshiba)
Vf 1.5V(max)
If 100mA(max)

Vf all 1.5*6=9V(max)

Tr
2SC2235Y(toshiba)

hfe 120-240
Ic 800mA(max)
Vceo 120V(max)
Pc 900mW

Block1

BR n
15Ω 1W

BTR n
2SC2235Y

Block2
Block n
(max10? Maybe..)

Block Just copy

Current Control
Block

3-Terminal regulator
LM317T

DC in

IR LED Driver (Current mirror Type)
Current Limiting resistor is not used.

83mA
(Constant Current)

83mA
(Constant Current)

83mA
(Constant Current)
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